%WatthU BS

London South West

Number & Place Value: Count in multiples of 6, 7, 9, 25 and 1,000.

Learning focus Count in multiples of 6

%atthUBS %atthUBS
London South West Greater Depth Challenge: London South West Greater Depth Challenge:

Convince me that the number 18 will be in this

sequence: Here is a sequence of numbers.

6,12, 18, 24
What will be the 25™ number in the sequence?
>4, 48, 42, 36... What will the 50™ number in the sequence be?

How do you know? Explain your answer.

éﬁ/latthUBS %’\.datthUBS
London South West Greater Depth Challenge: London South West Greater Depth Challenge:

What is the same and what is different about these two

The temperature at 6am in December was -6 degrees

number sequences? o
12, 18, 24, 30, 36... elsius.

E iti .
35 29 23,17, 11.... very hour, it increased by 6 degrees

What was the temperature by 3pm?




%!\‘/.'atthU BS

London South West

Learning focus

Count in multiples of 7

%atthUBS
London South West Greater Depth Challenge:

[z]z]2]s]e[7[s]o]w] | Only 3 numbers are shaded in
1111213141516 |17 (18|19 |20
21 2223 [24 2526 27 |28 | 23 | a0 the counting pattern below.
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41|42 143 (44|45 46%48 49 [ 50
|02 535495 56 |57 158 159 | 60 Work out the pattern and
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éﬁﬂatthUBS
London South West Greater Depth Challenge:
Can you fill in the missing boxes?
42 28 14
| | | |
| [
-7
"%IatthUBS

London South West

In Brighton the average June temperature at midday

The average temperature drops by 7°C every two

Which month did the temperature reach freezing

Greater Depth Challenge:

was 21°C.

months.

point?

%atthUBS
London South West Greater Depth Challenge:

This sequence is incomplete. Can you find the missing
numbers?

1_141 ’ 1141_1281351_



https://www.google.co.uk/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=0ahUKEwjk7IzrrN_QAhVFNhoKHR7EBrUQjRwIBw&url=https://www.tes.com/teaching-resource/100-square-6105585&psig=AFQjCNEd9-pgozVr7xA1Kp1nMubVdu3gsA&ust=1481106235177913
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London South West

Learning focus Count in multiples of 9

%atthUBS
London South West Greater Depth Challenge:

A number sequence starts with 1y 234 32.

What will the 10" number be?

What will the 20" number be?

%atthUBS
London South West Greater Depth Challenge:
Canyoud fillin the missing boxes?
_27 e A5
| | | | |
| | | |
18
"?‘f\‘/latthUBS
London South West Greater Depth Challenge:
The numbers in this sequence continue in the same
way:

90, 180, 270, 360, 450...

Circle all of the numbers that would be in the sequence:

620, 540, 720, 560, 819, 630, 738

%atthUBS
London South West Greater Depth Challenge:

Sam is training for an event. He runs 9 miles each week. He has
12 weeks until the event takes place. He only misses 1 week of

training due to illness.

He calculates that will have ran a total of 63 miles because 9
miles X 7 (days in a week) = 63.

Is he correct? Explain your reasoning.




%WatthU BS

London South West

Learning focus Count in multiples of 25

%atthUBS
London South West Greater Depth Challenge:

@ 50 @ 125 @@

What shape will have the number 300 in?

How do you know?

%atthUBS
London South West Greater Depth Challenge:
Can you fill in the gaps?
75 125 175
"%IatthUBS
London South West Greater Depth Challenge:

Ella counts on in multiples of 25 from 500.
Circle the numbers she will say:
580 850 1000 740 520 675 925

How do you know you have circled all of them?

%atthUBS
London South West Greater Depth Challenge:

Sally says, “Half of the multiples of 25 less
than 500 are multiples of 50.”
Is she right?

Yes/ No?
Can you prove your answer?




%WatthU BS

London South West

Learning focus

Count in multiples of 1,000

%atthUBS

London South West

Greater Depth Challenge:

Can you fill in the missing boxes?

4000

6000

Q000

%WatthUBS
London South West Greater Depth Challenge:

Always, sometimes, never true?

Angus says, “1000 is a multiple of 25, so
therefore 25 is a multiple of 1000?”

Is he correct? Explain your answer.




%WatthU BS

London South West

Number & Place Value: Find 1,000 more or less than a given number.

Learning focus

Count orally from a given number increasing or decreasing by 1,000 and explain the digit patterns including the
impact of crossing boundaries when moving between 1,000s and 10,000s.

%Waths HUBS

London South West

“The number 1000 less than my number uses the
digit cards 3,4, § and 6. The tens column is the only 3300
even digit in my number.”

%atthUBS
Greater Depth Challenge: Londen South West Greater Depth Challenge:

_ _ 1300 1500
Mia thinks of a number.

She says:

?
What could her number be? How many possibilities can you :| What is the missing number?

find?
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London South West

Number & Place Value: Count backwards through 0 to include negative numbers.

e.g., Use counting decisticks, counting hoops, etc.

Learning focus Count forwards and backwards in ones through the zero boundary and discuss what happens when zero is reached,

'%f'\/latthUBS

London South West Greater Depth Challenge:

Joe has £18 in his bank.

He goes shopping and buys himself some shoes that
cost £15, a t-shirt that costs £9 and a tie that costs £4.
What is his new bank balance?

Is there more than one way to solve this?
Which way is more efficient? Why?

%WatthUBS

London South West Greater Depth Challenge:

Louise starts counting backwards from 8 in ones. What
will be the 16" number she lands on?

Explain how you know.




éf\'/latthU BS

London South West

Learning focus Count forwards and backwards in different step numbers of equal size through the zero boundary,

%atthUBS

London South West Greater Depth Challenge:

The temperature at 8pm is 15°C.
It drops by 3°C every hour.

Annie says “At 3am the next morning the
temperature will be 0 because it can’t be any colder
than 0.”

What advice would you give her to help her find the answer?
What is the simplest way you have to explain it?

"%IatthUBS

London South West Greater Depth Challenge:

Builders are digging a hole in the ground ready for a new
building.
Each day they dig a further 3 metres down. They begin at 2
metres above the ground level.
They need to dig a hole which is 16 metres below the ground.
How many days will it take them?




%WatthU BS

London South West

Number & Place Value: Recognise the place value of each digit in a four-digit number (thousands, hundreds, tens, and ones).

Learning focus Partition numbers into thousands, hundreds, tens and ones.

%atthUBS %WatthUBS
London South West Greater Depth Challenge: London South West Greater Depth Challenge:
These place value counters have no value.
Can you use them to represent the following numbers? Sophie picks these cards.
0 o0
o; oo 2743
o

00 oo 6286
oo 5091

E i n . -

Xplain what each counter repr:j';egzi and how you have made each What is the 2™ smallest number she can make using these digit cards?




%WatthU BS

London South West

Learning focus Understand zero as a place-holder in numbers, such as 2036, 4305, and 6007.

%atthUBS
London South West Greater Depth Challenge:

Theo has three place value countears and the place valus grid below. How many
different numbers can he make using these?

TH H T U

%atthUBS
London South West Greater Depth Challenge:

Always, sometimes or never?

When you put a zero on the right hand side of a whole
number, the number that was in the units position
moves into the hundreds position and so on.
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London South West

Learning focus Know the value of a chosen digit in a given number, e.g., in 1275 the 2 has a value of 200.

éﬁﬂatthUBS
London South West Greater Depth Challenge:

Write the value of 7 in each of these nhumbers:

6734 847
572 731
7064 5827

Explain how you know.

%atthUBS
London South West Greater Depth Challenge:

Create 5 four-digit numbers where the value of the 3 is
300 and the numbers are even.

Order them from largest to smallest.




%WatthU BS

London South West

Number & Place Value: Order and compare numbers beyond 1,000.

e.g., 2500, 900, 750, 5300, 2501.

Learning focus Order a set of whole numbers in ascending / descending order recognising the most significant digit in this process,

'éff/latthUBS
London South West Greater Depth Challenge:

Howe rany four digit numbers can you make using the digit cards below?

80006

Place them in ascending order.

éf\'datthUBS
London South West Greater Depth Challenge:

If Jamie wrote these numbers in ascending order, which

number would be 5?

2122 2212 2112 2112 2102 2121




%WatthU BS

London South West

Learning focus Compare numbers and quantities by:

using = < and > symbols, e.g., B < 3445 [ 5089;
placing numbers accurately on an un-numbered number line where only the start and end numbers are known.

i

%atthUBS
London South West Greater Depth Challenge:

What digit could you put in the box to make this
number sentence correct?
1540 + 104 > 1684
How many possibilities could there be for the following
guestion:
507 + o< 511

athsHUBS
London South West Greater Depth Challenge:
Fill in the missing boxes using either < > =
56 + 84 32 + 66
92-34 85-35
42 + 96 179-41
%athSHUBS
London South West Greater Depth Challenge:
216 > 189 +

What is the smallest number that could go in the box?

What is the biggest?




éﬁmﬁBHUBS

London South West

Learning focus

Describe the positional relationship between two numbers, e.g., 6721 is larger than 7000 but smaller than 8000.

éﬁmﬂBHUBS

London South West

Can you place 4731 on all three of these number lines?

Greater Depth Challenge:

Have you put them in different places? Why?

4000 5000
4700 4800

4730

4740

"if\'datthUBS
London South West Greater Depth Challenge:

Jack thinks of a number which is larger than 3467 but
smaller than 4101.

His number has a 0 in and is odd.

What could his number be?
Is there more than one solution?




%WatthU BS

London South West

Number & Place Value: Round any number to the nearest 10, 100 or 1,000.

Learning focus

above 5 round up.

Round numbers to the nearest 10, understanding the rule that if the ones are below 5 round down, and if they are

'éff/latthUBS
London South West Greater Depth Challenge:

The head teacher of a school wants to send Christmas cards to
all 467 children in her school.

Cards come in boxes of 10.

How many boxes does she need to buy?
Explain your reasoning

%WatthUBS
London South West Greater Depth Challenge:

A number rounded to the nearest 10 is 650.
What is the smallest possible number that it could be?

Explain your reasoning.

"%IatthUBS
London South West Greater Depth Challenge:

Always, sometimes, never?

Jack rolls two six-sided die to create two 2-digit numbers.
He rounds both of the numbers to the nearest 10.

Do both of his numbers ever round to the same multiple of ten?
Explain your answer.




%WatthU BS

London South West

are above 50 round up.

Learning focus Round numbers to the nearest 100, understanding the rule that if the tens are below 50 round down, and if they

W

%atthUBS
London South West Greater Depth Challenge:

Louis bought a new bike which when rounded to the nearest
100 was £300.

What is the smallest and largest possible amount it could have
cost?

athsHUBS
London South West Greater Depth Challenge:
I am thinking of a number
Rounded to the nearest 10 is 3550
Rounded to the nearest 100 is 3600
All of the digits add up to 16.
What is my number?
%WatthUBS
London South West Greater Depth Challenge:

A number rounded to the nearest 100 is
2500.

What is the smallest possible number it could be?
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London South West

Learning focus

Round numbers to the nearest 1,000, understanding the rule that if the hundreds are below 500 round down, and
if they are above 500 round up.

%athSHUBS

London South West

Jessica believes that 4500 rounded to the nearest 1000 is 4000.

%atthUBS
Greater Depth Challenge: Londen South West Greater Depth Challenge:

Sally is thinking of a number.
Is she correct? When she rounds it to the nearest 1000 she gets 4,000.
How do you know? When she rounds it to the nearest 10 she gets 370.

What could her number be? List all possibilities.




